ODES RELATED WITH SOME NONLOCAL SCHRÖDINGER EQUATIONS AND ITS APPLICATIONS

HYUNGJIN HUH

ABSTRACT. We obtain ordinary differential equations related with some nonlocal Schrödinger equations. As applications, we prove finite time blow-up or extinction of solutions.

1. Introduction

We are interested in the following systems of Schrödinger equations with nonlocal terms

(1.1)
$$i\partial_t u + \Delta u + V_1 u = i\alpha u \left(\int_{\Omega} (|u|^2 + |v|^2)(x, t) dx \right)^p + f_1(|u|^2, |v|^2) u,$$
$$i\partial_t v + \Delta v + V_2 v = i\beta v \left(\int_{\Omega} (|u|^2 + |v|^2)(x, t) dx \right)^p + f_2(|u|^2, |v|^2) v,$$

and

(1.2)
$$i\partial_t u + \Delta u + V_1 u = i\alpha u \left(\int_0^t \int_\Omega (|u|^2 + |v|^2)(x, s) dx ds \right)^p + f_1(|u|^2, |v|^2) u,$$
$$i\partial_t v + \Delta v + V_2 v = i\beta v \left(\int_0^t \int_\Omega (|u|^2 + |v|^2)(x, s) dx ds \right)^p + f_2(|u|^2, |v|^2) v,$$

with initial and boundary conditions

$$u(x, 0) = u_0(x), \quad v(x, 0) = v_0(x) \quad x \in \Omega, u(x, t) = 0, \quad v(x, t) = 0 \quad t > 0, \quad x \in \partial\Omega.$$

Here u, v are complex valued functions and V_j are real valued potential functions. The nonlinear terms f_j are real valued polynomials with respect to $|u|^2$ and $|v|^2$. α, β are real constants and p is an integer. Ω is a smoothly bounded

O2019Korean Mathematical Society

Received February 1, 2018; Revised September 27, 2018; Accepted October 15, 2018. 2010 Mathematics Subject Classification. 35B40, 35C05, 35Q41.

Key words and phrases. conlocal Schrödinger equation, ODE, blow-up, extinction.

This research was supported by Basic Science Research Program through the National Research Foundation of Korea(NRF) funded by the Ministry of Education(2017R 1D1A1B03028308).

domain of \mathbb{R}^n or whole space \mathbb{R}^n . In the case of \mathbb{R}^n , the boundary condition is understood as $\lim_{|x|\to\infty} (u(x, t), v(x, t)) = (0, 0)$.

Some parabolic equations with nonlocal terms have been studied in [2]. The systems (1.1) and (1.2) are Schrödinger versions of them. We are also interested in the following system of Schrödinger equations

(1.3)
$$i\partial_t u + \Delta u + V_1 u = i\alpha u \left(\int_{-\infty}^x (|u|^2 + |v|^2)(y, t) dy \right)^p + f_1(|u|^2, |v|^2) u,$$
$$i\partial_t v + \Delta v + V_2 v = i\beta v \left(\int_{-\infty}^x (|u|^2 + |v|^2)(y, t) dy \right)^p + f_2(|u|^2, |v|^2) v,$$

where u, v are complex valued functions defined on \mathbb{R}^{1+1} . While integrals in (1.1), (1.2) are functions of t, the integral in (1.3) is a function of x and t. The similar equations have been studied in [3].

We will derive some precise formulas for behaviors of L^2 norm of nonlinear nonlocal Schrödinger equations (1.1), (1.2) and (1.3) as long as solutions exist. From now on, we assume that $V_i = V_i(x)$ is a given smooth real-valued potential function satisfying

$$\sum_{j=0}^m \|\nabla^j V_i\|_{L^\infty} \leq C_m < \infty \quad \text{for a positive integer } m > n/2.$$

Then it can be proved that the equations (1.1), (1.2) and (1.3) admit a unique local solution u, v in time interval [0, T).

$$u, v \in C([0,T); W^{m,2}(\Omega)).$$

Therefore, the equations we will derive are valid in the time interval [0,T) where solutions exist. Let us define functions

$$x(t) = \int_{\Omega} (|u|^2 + |v|^2)(x, t) dx \quad \text{and} \quad y(t) = \int_{\Omega} (|u|^2 - |v|^2)(x, t) dx.$$

Our first result is concerned with the system (1.1).

Theorem 1.1. As long as the solutions u, v of (1.1) exist, we have the following ODEs.

(i) For the case $\beta = \alpha$, we have

$$\frac{dx}{dt} = 2\alpha x^{p+1}.$$

(ii) For the case $\beta = -\alpha$, we have

$$\frac{dy}{dt} = 2\alpha(y^2 + c^2)^{\frac{1+p}{2}} \quad and \quad x^2 = y^2 + c^2,$$

where $c^2 = 4 \|u_0\|_{L^2}^2 \|v_0\|_{L^2}^2$.

As applications of the ODEs, we show finite time blow-up or extinction of solutions in Corollary 2.1. Our second result is concerned with the system (1.2). Let us define $X(t) = \int_0^t x(s) ds$.

Theorem 1.2. Let p be a nonnegative integer. As long as the solutions u, v of (1.2) exist, we have the following equations.

(i) For the case $\beta = \alpha$, we have

$$\frac{dX}{dt} = \frac{2\alpha}{p+1} X^{p+1}(t) + \|u_0\|_{L^2}^2 + \|v_0\|_{L^2}^2.$$

(ii) For the case $\beta = -\alpha$, we have

$$y(t) = y(0) + \frac{2\alpha}{p+1} \left(\int_0^t \sqrt{y^2(s) + c^2} \, ds \right)^{p+1}$$
 and $x^2 = y^2 + c^2$,

where $c^2 = 4 \|u_0\|_{L^2}^2 \|v_0\|_{L^2}^2$.

As mentioned above, the equation (1.3) is different from (1.1) in that the integral in (1.3) is a function of x and t.

Theorem 1.3. As long as the solutions u, v of (1.3) exist, we have the following ODE.

(i) For the case $\beta = \alpha$, we have

$$\frac{dx}{dt} = \frac{2\alpha}{p+1}x^{p+1}.$$

(ii) For the case of $\alpha > 0$ and p > 0, we have

$$\frac{d}{dt} \int_{\mathbb{R}} |u(x,t)|^2 \, dx \ge \frac{2\alpha}{p+1} \left(\int_{\mathbb{R}} |u(x,t)|^2 \, dx \right)^{p+1}$$

As applications of Theorems 1.2 and 1.3, we can show several behaviors of solutions to (1.2) and (1.3). We prove Theorem 1.1 in Section 2. Theorems 1.2 and 1.3 are proved in Sections 3 and 4 respectively.

2. Proof of Theorem 1.1 and its applications

Multiplying (1.1) by $\bar{u},\,\bar{v}$ respectively and taking imaginary parts of them, we obtain

$$\begin{aligned} &\frac{\partial}{\partial t}|u(x,t)|^2 + \mathrm{i}(u\Delta\bar{u} - \bar{u}\Delta u) = 2\alpha|u(x,t)|^2 \left(\int_{\Omega}|u(y,t)|^2 + |v(y,t)|^2dy\right)^p,\\ &\frac{\partial}{\partial t}|v(x,t)|^2 + \mathrm{i}(v\Delta\bar{v} - \bar{v}\Delta v) = 2\beta|v(x,t)|^2 \left(\int_{\Omega}|u(y,t)|^2 + |v(y,t)|^2dy\right)^p. \end{aligned}$$

Integrating by parts and considering that $\int_\Omega |u(y,\,t)|^2 + |v(y,\,t)|^2 dy$ is a function of t, we can derive

(2.1)
$$\frac{d}{dt} \int_{\Omega} |u(x,t)|^2 dx = 2\alpha \int_{\Omega} |u(x,t)|^2 dx \left(\int_{\Omega} |u(y,t)|^2 + |v(y,t)|^2 dy \right)^p, \\ \frac{d}{dt} \int_{\Omega} |v(x,t)|^2 dx = 2\beta \int_{\Omega} |v(x,t)|^2 dx \left(\int_{\Omega} |u(y,t)|^2 + |v(y,t)|^2 dy \right)^p.$$

H. HUH

When $\alpha = \beta$, we have from (2.1)

(2.2)
$$\frac{dx}{dt} = 2\alpha x^{1+p}.$$

When p = 0, we have $x(t) = x(0)e^{2\alpha t}$. For the case of $p \neq 0$, the ODE (2.2) leads us to

(2.3)
$$x^{p}(t) = \frac{x^{p}(0)}{1 - 2\alpha p x^{p}(0)t}$$

When q := -p > 0, (2.3) can be rewritten as

$$x^q(t) = x^q(0) + 2\alpha qt.$$

As applications of (2.3), we can derive several behaviors of solutions like finite time blow-up or extinction.

Corollary 2.1. (1) For p > 0 and $\alpha > 0$, we have a finite blow-up $x(t) \to \infty$ as $t \to 1/2\alpha p x^p(0)$.

(2) For p > 0 and $\alpha < 0$, we have $x(t) \to 0$ as $t \to \infty$.

(3) For q := -p > 0 and $\alpha > 0$, we have $x(t) \to \infty$ as $t \to \infty$.

(4) For q := -p > 0 and $\alpha < 0$, we have a finite time extinction [1], that is, the solution may become identically zero after some positive time. In fact, we can check $x(t) \to 0$ as $t \to -x^q(0)/2\alpha q$.

When $\beta = -\alpha$, the equations (2.1) can be rewritten as

(2.4)
$$\begin{aligned} \frac{dx}{dt} &= 2\alpha y x^p, \\ \frac{dy}{dt} &= 2\alpha x^{1+p}. \end{aligned}$$

From (2.4), we can derive

$$\frac{d}{dt}(x^2 - y^2)(t) = 0.$$

Considering $(x^2 - y^2)(t) = 4 ||u(t)||_{L^2}^2 ||v(t)||_{L^2}^2$, we have

 $4\|u(t)\|_{L^2}^2\|v(t)\|_{L^2}^2 = 4\|u_0\|_{L^2}^2\|v_0\|_{L^2}^2 := c^2.$

Then we obtain an ODE

$$\frac{dy}{dt} = 2\alpha(y^2 + c^2)^{\frac{1+p}{2}} \quad \text{or} \quad \frac{dx}{dt} = \pm 2\alpha\sqrt{x^2 - c^2}x^p.$$

When p = 1 in the above equation, we have an explicit solution

$$y(t) = c \frac{y(0) + c \tan(2\alpha ct)}{c - y(0) \tan(2\alpha ct)}.$$

3. Proof of Theorem 1.2 and its applications

In this section we assume that p is a nonnegative integer. For the equations (1.2), we can derive

$$(3.1) \\ \frac{d}{dt} \int_{\Omega} |u(x,t)|^2 dx = 2\alpha \int_{\Omega} |u(x,t)|^2 dx \left(\int_0^t \int_{\Omega} |u(y,s)|^2 + |u(y,s)|^2 dy \, ds \right)^p, \\ \frac{d}{dt} \int_{\Omega} |v(x,t)|^2 dx = 2\beta \int_{\Omega} |v(x,t)|^2 dx \left(\int_0^t \int_{\Omega} |u(y,s)|^2 + |u(y,s)|^2 dy \, ds \right)^p.$$
When $\alpha = \beta$, we have

When $\alpha = \beta$, we have

(3.2)
$$x'(t) = 2\alpha x(t) \left(\int_0^t x(s)ds\right)^p.$$

Let $X(t) = \int_0^t x(s) ds$. Then (3.2) can be rewritten as

$$X''(t) = 2\alpha X^{p}(t)X'(t) = \left(\frac{2\alpha}{p+1}X^{p+1}\right)'.$$

Considering $X(0) = \int_0^0 x(s) ds = 0$ and $X'(0) = x(0) = ||u_0||_{L^2}^2 + ||v_0||_{L^2}^2$, we derive

(3.3)
$$X'(t) = \frac{2\alpha}{p+1} X^{p+1}(t) + x(0).$$

As applications of the ODE (3.3), we consider the following two cases.

(i) For p > 0 and $\alpha > 0$, we have finite time blow up.

(ii) For p = 1 and $\alpha = -\frac{p+1}{2}$, we have

$$X(t) = \sqrt{x(0)} \frac{1 - e^{1 - 2\sqrt{x(0)}t}}{1 + e^{1 - 2\sqrt{x(0)}t}}$$

which implies

$$x(t) = 4x(0)\frac{e^{1-2\sqrt{x(0)}t}}{(1+e^{1-2\sqrt{x(0)}t})^2},$$

,

from which we have $x(t) \to 0$ as $t \to \infty$.

When $\beta = -\alpha$, we have from (3.1)

(3.4)
$$x'(t) = 2\alpha y(t) \left(\int_0^t x(s)ds\right)^p,$$
$$y'(t) = 2\alpha x(t) \left(\int_0^t x(s)ds\right)^p.$$

From (3.4), we derive $\frac{d}{dt}(x^2 - y^2) = 0$ which implies $x^2 = y^2 + c^2$, where $c^2 = 4 \|u_0\|_{L^2}^2 \|v_0\|_{L^2}^2$. Plugging $x = \sqrt{y^2 + c^2}$ in the second equation of (3.4),

H. HUH

we obtain an ODE

(3.5)
$$\frac{dy}{dt} = 2\alpha\sqrt{y^2(t) + c^2} \left(\int_0^t \sqrt{y^2(s) + c^2} \, ds\right)^p,$$

which can be rewritten as

$$\frac{d}{dt}\left(y - \frac{2\alpha}{p+1}\left(\int_0^t \sqrt{y^2(s) + c^2} \, ds\right)^{p+1}\right) = 0.$$

Therefore we have

(3.6)
$$y(t) = y(0) + \frac{2\alpha}{p+1} \left(\int_0^t \sqrt{y^2(s) + c^2} \, ds \right)^{p+1}.$$

Let us show another look at (3.5). Let $Y(t) = \int_0^t \sqrt{y^2(s) + c^2} \, ds$. Then (3.5) can be rewritten as

(3.7)
$$\frac{Y'Y''}{\pm\sqrt{(Y')^2 - c^2}} = 2\alpha Y'Y^p,$$

where we use $y^2 = (Y')^2 - c^2$ and \pm corresponds the sign of y. From now on, we consider the case $y(t) \ge 0$. The equation (3.6) implies $y(t) \ge 0$ for $y(0) \ge 0$, $\alpha \ge 0$. Then the equation (3.7) is equivalent to

$$\frac{d}{dt}\left(\sqrt{(Y')^2 - c^2} - \frac{2\alpha}{p+1}Y^{p+1}\right) = 0.$$

Considering Y(0) = 0, $Y'(0) = ||u_0||_{L^2}^2 + ||v_0||_{L^2}^2$ and $c^2 = 4||u_0||_{L^2}^2 ||v_0||_{L^2}^2$, we obtain

$$\sqrt{(Y')^2 - c^2} = \sqrt{y^2(0)} + \frac{2\alpha}{p+1}Y^{p+1}$$

where $y(0) = ||u_0||_{L^2}^2 - ||v_0||_{L^2}^2$. Then we obtain an ODE

$$\frac{dY}{dt} = \left[c^2 + \left(\sqrt{y^2(0)} + \frac{2\alpha}{p+1}Y^{p+1}\right)^2\right]^{\frac{1}{2}}.$$

In a similar way, we can derive an ODE for X(t). Plugging $y = \pm \sqrt{x^2 - c^2}$ in the first equation of (3.4), we obtain an ODE

(3.8)
$$\frac{dx}{dt} = \pm 2\alpha \sqrt{x^2(t) - c^2} \left(\int_0^t x(s) \, ds \right)^p.$$

Let $X(t) = \int_0^t x(s) \, ds$. Then (3.8) can be rewritten as

$$X'' = \pm 2\alpha \sqrt{(X')^2 - c^2} X^p.$$

Multiplying X' on both sides, we derive

$$\frac{X'X''}{\sqrt{(X')^2 - c^2}} = \pm 2\alpha X'X^p$$

which is equivalent to $\frac{d}{dt} \left(\sqrt{(X')^2 - c^2} \mp \frac{2\alpha}{p+1} X^{p+1} \right) = 0$. Considering $X(0) = 0, X'(0) = \|u_0\|_{L^2}^2 + \|v_0\|_{L^2}^2$ and $c^2 = 4\|u_0\|_{L^2}^2 \|v_0\|_{L^2}^2$, we obtain

$$\sqrt{(X')^2 - c^2} = \sqrt{y^2(0)} \pm \frac{2\alpha}{p+1} X^{p+1}.$$

Then we obtain an ODE $\frac{dX}{dt} = \left[c^2 + \left(\sqrt{y^2(0)} \pm \frac{2\alpha}{p+1}X^{p+1}\right)^2\right]^{\frac{1}{2}}$.

4. Proof of Theorem 1.3 and its applications

For the system (1.3), we can derive

(4.1)
$$\frac{d}{dt} \int_{\mathbb{R}} |u(x,t)|^2 dx = 2\alpha \int_{\mathbb{R}} \left[|u(x,t)|^2 \left(\int_{-\infty}^x (|u|^2 + |v|^2)(y,t) dy \right)^p \right] dx,$$
$$\frac{d}{dt} \int_{\mathbb{R}} |v(x,t)|^2 dx = 2\beta \int_{\mathbb{R}} \left[|v(x,t)|^2 \left(\int_{-\infty}^x (|u|^2 + |v|^2)(y,t) dy \right)^p \right] dx.$$

Let us define $f(x,t) = \int_{-\infty}^{x} |u(y,t)|^2 dy$ and $g(x,t) = \int_{-\infty}^{x} |v(y,t)|^2 dy$. When $\alpha = \beta$, the system (4.1) implies

$$\begin{aligned} &\frac{d}{dt} \int_{\mathbb{R}} (|u|^2 + |v|^2)(x, t) dx \\ &= 2\alpha \int_{\mathbb{R}} \left[(|u|^2 + |v|^2)(x, t) \left(\int_{-\infty}^x (|u|^2 + |v|^2)(y, t) dy \right)^p \right] dx. \end{aligned}$$

Taking into account

$$(|u|^2 + |v|^2)(x, t) \left(\int_{-\infty}^x (|u|^2 + |v|^2)(y, t) dy \right)^p$$

= $\frac{d(f+g)}{dx} (f+g)^p = \frac{d}{dx} \left(\frac{1}{p+1} (f+g)^{p+1} \right),$

we obtain

$$\int_{-\infty}^{\infty} \frac{d}{dx} \left(\frac{1}{p+1} (f+g)^{p+1} \right) dx = \frac{1}{p+1} \left(\int_{-\infty}^{\infty} (|u|^2 + |v|^2) (y, t) dy \right)^{p+1}.$$

Therefore we have

$$\frac{d}{dt} \int_{\mathbb{R}} (|u|^2 + |v|^2)(x, t) dx = \frac{2\alpha}{p+1} \left(\int_{\mathbb{R}} (|u|^2 + |v|^2)(x, t) dx \right)^{p+1},$$

which is the similar ODE to (2.2).

The system (4.1) can be rewritten as

(4.2)
$$\frac{d}{dt}f(\infty, t) = 2\alpha \int_{-\infty}^{\infty} \frac{\partial f}{\partial x}(f+g)^p dx,$$
$$\frac{d}{dt}g(\infty, t) = 2\beta \int_{-\infty}^{\infty} \frac{\partial g}{\partial x}(f+g)^p dx.$$

 $\mathbf{H}.~\mathbf{H}\mathbf{U}\mathbf{H}$

As an application of (4.2), we consider the case of $\alpha > 0$, p > 0. Note that f, g are nonnegative functions. Moreover we have $\frac{\partial f}{\partial x} \ge 0$ and $\frac{\partial g}{\partial x} \ge 0$. Then the first equation of (4.2) implies

$$\frac{d}{dt}f(\infty, t) \ge 2\alpha \int_{-\infty}^{\infty} \frac{\partial f}{\partial x} f^p dx = \frac{2\alpha}{p+1} f^{p+1}(\infty, t),$$

where we note that $f(\infty, t) = \int_{\mathbb{R}} |u(x, t)|^2 dx$.

References

- R. Carles and C. Gallo, Finite time extinction by nonlinear damping for the Schrödinger equation, Comm. Partial Differential Equations 36 (2011), no. 6, 961–975.
- [2] H. Huh, Solution formulas for some nonlocal heat equations, Commun. Korean Math. Soc. 31 (2016), no. 3, 567–573.
- [3] K. Nakamura and T. Ozawa, Finite charge solutions to cubic Schrödinger equations with a nonlocal nonlinearity in one space dimension, Discrete Contin. Dyn. Syst. 33 (2013), no. 2, 789–801.

HYUNGJIN HUH DEPARTMENT OF MATHEMATICS CHUNG-ANG UNIVERSITY SEOUL 06974, KOREA Email address: huh@cau.ac.kr